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Analysis and Improvement of Communication Stops
using TCP/IP of Linux on a Fast Long Distance Network

KobpAMA YUETSU ,# TAKANO RYOUSEI ,# FUMIHIRO OKAZAKI *
and KuboHn TOMOHIRO f

When many packets are lost using TCP/IP of Linux on a fast long distance network, the
communication sometimes stops during several seconds, and the communication efficiency,
which is goodput divided by bottleneck bandwidth, is decreased to 15%. In this paper we
examined the detail situation of the communication stop by using several tools, and found
that the communication stop was caused by missing loss of retransmitted packets because
of problems on TCP/IP implementation of Linux kernel 2.6.17 or former version. We fixed
the problems, and improved the communication efficiency to 96% on the situation. The per-
formance is about 28% faster than that of the Linux kernel 2.6.22, which fixed some of the

problems.
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